eFUEL EFN, CORP. 1212 S. Main St. Wildwood, Fl 34748 USA

Ph: 352-399-6278

THE COMPANY WORKING TO REMOVE CAVEAT EMPTOR FROM THE "EFLN" FILINGS TO OTC MARKET. THE 3rd QUARTER 2017 INCOM INCRESE UP 70%. EFUEL EFN CORPORATION CUNSTANTLY WORKING ON POTENTIAL SELES AND PURCHASE OF NEW ASSETS TO THE CORPORATION.

Press Release, Wildwood Florida Nov. 15, 2017. This writing is to DELIVER GREAT NEWS and to explain shareholders general idea, interest and opportunity in future company activity. The "EFLN" are current with OTC Market filings. The OTC mast removed Caveat Emptor or OTC will be responsible for damages to "EFLN" shareholders. The company seeking international market presentation on our products and investment. Also, company with shareholders would like to organize administrative found that will market company goals, to have stock current with OTC and international market filings.

In the spite of today's depressing world economy eFUEL EFN CORPORATION has great potential to expend its position in domestic and international market. This company has long-term growing objectives and great potential to do IMPORT- EXPORT activity, has obtain license, to import products for our businesses, expend operation and make money. The company looking in to bitcoin industry for future growth. Investor should invest in the eFUEL EFN, Corp. with simple strategies buying stock from the market. The stock symbol is "EFLN" and is listed on OTC Pink Sheet.

Investor should retain position at "EFLN" as long-term investment objectives. The "EFLN" will growth in your broker account and accumulating your buying strength on market.

The Company business plan is developed in five divisions that represents investment-holding corporation with name eFUEL EFN Corp. with trading

symbol "EFLN". Corporation has intangible, tangible assets and no large debt. Corporation is existing as asset holding entity with goals to purchase, expend and integrate acquiring business into our exiting business structure. In 3rd quitter of 2017 company "EFLN" negotiate to purchase additional assets, with value of 1,250.000.00, and net income of 250,000.00 this assets should be added to "EFLN" in 1st quitter 2018. In addition, company has negotiated and purchased 2,905 ac. of land, with gold values, and minerals assets to be valued of \$500,000,000.00, this portfolio of land, gold and minerals will be in 2017 on company IRS TAX balance sheet. The company has third quitter 2017 net income increase 70%. Also, according to business plan sales should increase to over \$25,000,000 by the year 2020.

The company has tow credit lines in place 1st with EURO-AMERICAN FINANC NETWORK, INC. and 2nd with LIQUID CAPITAL OF NORTHERN CALIFORNIA. This funds are in placed for EFUEL EFN CORPORATION purchase use.

The website is WWW.EFUELEFN.COM. Alternatively, WWW.EFUELEFNCOPORATION.COM it will explain our basic mission.

The management working to upgrade company regulatory readings and have electronically trading on international market. We have international investors from Europe countries that would like to buy "EFLN" stocks when we have it on the market in Europe .

In today times stock market curve fluctuate up and down. The management dos not have control of it. If the investor has to know company goals, determination and positive character of the company and its management's personnel, then investor should not worry of stock going up end down. We encourage you to invest in eFUEL EFN CORP. and build company. Together with constructive work and good planning, we will make progress. This is my inspiration and basic description of the Company that is in growing position, bingeing to development, and has great potential for prosperity in the future that will create and extent rewards to the shareholders. In this stage

of business, we have creational spirit, knowledge and wisdom to continue operation in difficult economic environment.

With this press release, I am going to present Scuba Dive comets on IHUB massage boarded.

"I amazed that after six years the cynics are still posting trash. For the newcomers and old-timers alike, the road has been long and frustrating. Now it is time to look ahead.

Most sub-penny stock investors lose money year after year and continue to investing in loosing companies. Most, but not all, penny stocks are undercapitalized, built on hype. Lying and deception. Investors who make money are on the inside. Management behind this type of purchase, shell/startup, are usually into too make a fast buck. Most of these companies have little substance and a whole bunch of hype. Investors in penny stocks have been burnt many, many times and still continue to invest in this junk. Because of this past history and certain issues, you cannot see the forest for the trees.

Misinformation from naysayer's presents a negative picture, including comments like:

- 1. Investor major compliant no audited financials for the past 6 years.
- 2. The company's posts are childish, bad sentience structure, misspelling.
- 3. The company is a scam.
- 4. He management is scamming all investors.

However, the reality of eFUEL EFN CORPORATION is quite unique in the penny world. Management has invested large sums of money and persevered during challenging times. You need only look at its history to know what I am talking about. Bottom line, they bought a pig of company, were cheated and lied to by previous owners of this shell. Despite these conditions, management has fought tooth and nail to keep eFUEL EFN CORPORATION alive, investing large sums of money, time and energy. Fast forward six years, eFuel is still around and thriving. Management transfer or purchased millions in assets and are now showing a substantial positive cash flow.

- 1. For the first time in six years you have certified IRS audit.
- 2. THEY ARE European and might not speak or write the Kings English in the proper sentence structure. But, that has no bearing on what they have achieved and the hard work they put into building eFUEL EFN CORPORATION into a strong and profitable company.
- 3. If management had wanted to scam investors, they would have pumped this stock and walked away with a barrels of money.
- 4. Instead, management's only objective has been to build a great company and reap the rewards for the investors, company, and family. "

The information is to present company to investors to analyze company, and to thank of the investment in great company that we building.

This press release has information contains certain forward looking statement with the meaning of Section 27A of securities Act 1933 as a amended ,and Section 21E of the Securities Exchange Act 1954 which are intended to be covered by the safe harbors created in connection with that investor are cautioned that all Forwarding statements involve risks and uncertainties including eFUEL EFN CORPORATION.

Thank you, Ljubica Stefanovic, President. EFUEL EFN, Corp. President Ph. 352-504-1300 or 352-254-0237

Killarney Contractors, Inc.

355 Mashie Lane Orlando Fl 32804
Florida Certified Roofing License # CC C056852

Florida Certified Building License # CB C045636

November 5, 2017

EFUEL EFN Corp. 1212 S. Main St. Wildwood FL 34785

To Whom It May Concern:

Killarney Contractors was hired to make an assortment of repairs on the buildings identified as the Cherokee Trading Post. We have completed the replacement of the roof covering on the main building and are awaiting the County's final inspection.

The process includes - but not limited to:

Meet with the independent adjuster hired by the insurance company, and review the damage to the building caused by Hurricane Irma.

Negotiate pricing and identify a Scope of Work for damages. Five major areas were identified.

1. The roof covering of the main building.

2. The exterior structural damage.

3. The interior of the main building where water damaged drywall or other minor structural damage occurred.

4. Damage to the smaller building identified as the restaurant

 Miscellaneous Damage including interior and exterior electrical damage and damage to signage.

The roof covering of the main building is complete. As stated, we are presently awaiting the final inspection from Sumter County. The following work was accomplished:

Obtain a Sumter County Re-roof Permit

Order and deliver all roof covering material. Order and set appropriate trash containers (dumpsters). Remove all existing roof covering – shingles, dry-in paper, lead vent stack covers, and metal drip edge. Re nail all decking to meet Florida Building Code – 8d ring shank nails – 6" on center Repair all damaged decking and siding caused by years of use (not an insurance line item) Install new synthetic secondary water barrier, new brown drip edge, all new vent stack covers and Certainteed, Landmark, Mohave Tan limited lifetime shingles. Remove all debris from the site and remove dumpsters

The next task will be to repair the gable end of the building and seek permission from the insurance company to replace another part of the roof that was omitted in the original Scope of Work by the independent adjuster.

George Monico - Killarney Contractors

Cell: 407-908-2820 - 407-254-0877 - Fax: 407-254-0876 - e-mail: kcigm@bellsouth.net

Killarney Contractors, Inc.

355 Mashie Lane - Orlando, Florida 32804

Florida Certified Roofing License # CC C056852

Florida Certified Building License # CB CO45636 407-254-0877 - Fax: 407-254-0876 - Cell: 407-908-2820

Proposal & Contract

-	~ -		
Proposal	Suhm	ritted	to:

CUSTOMER:

ADDRESS:

CITY

STATE: ZIP

PHONE #:

EFUEL EFN CORP.

1212 S Main St

Wildwood

FL 34785 352-399-6278

(LJUBICA STEFANOVIC)

SCOPE OF WORK: Repair / replace roof damage, caused by Hurricane Irma, on building located at the above address

See Attached pricing for Exterior of main building only

Pricing does not include Mechanical, Electrical, and Plumbing.

Pricing for "smaller Building", and main building: Interior Drywall, Windows and Interior Trim will be costed with a separate Proposal / Contract at a later date

WE PROPOSE to furnish material and labor for the above-specified work for the sum of:

One Hundred Twenty Six Thousand Nine Hundred Ninety Three ----35/100-- Dollars (\$ 126,993.35)

Payment Schedule:

TBD

This proposal is good for 15 days and may be voided thereafter at the option of the contractor. All material is guaranteed to be as specified. All work will be completed according to standard building practices and in a timely manner. Any alterations or deviations from the above specifications involving additional costs will be executed only upon written orders and will become an extra charge item - over and above the Contract Sum.

Acceptance of Proposal: The above prices, specifications and conditions are hereby accepted. Killarney Contractors, Inc., is authorized to do the work as specified. Payment will be as noted. I agree that if Killarney Contractors, Inc., is required to take any action to enforce this contract, I shall pay Killarney Contractors, Inc., attorney's fees and costs, whether or not suit is filed. Venue in any lawsuit shall be in Orange County Florida. The Owner also agrees to pay 1.5% interest per month on the unpaid balance.

Accepted By:

Date: 4/21/2017

Submitted By:

Sheet1Exterior of Main Bldg. Take off 1212 S Main St. Wildwood FL

DESCRIPTION	QTY	M/N	UNIT PRICE	U/M UNIT PRICE SUB-TOTAL	TAX	UNIT W/TAX	0 & P	AVC
Permits & fees	_	EA	\$1,255.00			\$1,255.00	\$263.55	\$1,518.55
Flat Roof								2
•			100					
Remove Existing Modified								
Bitumen	14	SQ	\$125.00	\$1,750.00		\$1,750.00	\$367.50	\$2,117.50
Remove Damaged Wood	85	듞	\$4.46	\$379.10	\$26.54	\$410.10	\$117.12	\$527.21
R & R Sheathing	64	SF	\$3.76	\$240.64	\$16.84	\$261.24	\$75.47	\$336.71
Install Base (L & M)	14	SQ	\$116.00	\$1,624.00	\$113.68	\$1,853.68	\$618.95	\$2,472.63
Install Modified Bitumen (Material)	14	SQ	\$105.65	\$1,479.10	\$103.54	\$1,688.29	\$563.73	\$2,252.01
Install Modified Bitumen	14	S	\$145 00	\$2 030 00		\$2 030 00	\$426.30	\$2 456 30
,								
TOTAL FLAT ROOF						\$7,993.31	\$2,169.06	\$10,162.37
Sloped Roof								
Remove Existing Shingles	62	SQ	\$88.75	\$5,502.50		\$5,591.25	\$1,262.91	\$6,854.16
R&R Damaged Wood	358	두	\$4.21	\$1,507.18	\$105.50	\$1,616.89	\$449.26	\$2,066.15
R & R Sheathing	425	SF	\$3.76	\$1,598.00	\$111.86	\$1,713.62	\$475.48	\$2,189.10
Install SWB underlayment	72	SQ	\$93.00	\$6,696.00	\$468.72	\$7,257.72	\$2,085.84	\$9,343.56
Install Shingles	72	SQ	\$265.00	\$19,080.00	\$478.80	\$19,823.80	\$4,906.80	\$24,730.60
TOTAL SLOPED ROOF						\$36,003.28	\$9,180.29	\$45,183.57
						,		
Siding					9			
R & R Gable & 2 nd Floor Siding	1105	SH	\$11.15	\$12,320.75	\$478.80	\$12,810.70	\$3,180.20	\$15,990.90
Labor to replace siding	1105	SF	\$6.84	\$7,558.20		\$7,565.04	\$1,595.50	\$9,160.54

Sheet1Exterior of Main Bldg. Take off 1212 S Main St. Wildwood FL

DESCRIPTION Replace w/Hardie Sierra	QTY	U/M	UNIT PRICE	U/M UNIT PRICE SUB-TOTAL	TAX	UNIT W/TAX	0 & P
Replace w/Hardie Sierra Siding (Material)	2016	SH	\$5.85	\$11,793.60	\$257.32	\$12,056.77	\$2,795.09
Siding Trim Material)	843	뉴	\$2.98	\$2,512.14	\$221.27	\$2,736.39	\$798.89
Siding Trim (Labor)	843	듀	\$3.80	\$3,203.40		\$3,207.20	\$677.31
Paint exterior siding	_	EA	\$3,875.00	\$3,875.00	\$138.95	\$4,013.95	\$981.88
TOTAL SIDING						\$29,579.35	\$6,848.67
Gutters & Downspouts							
7" Gutters & Downspouts Mat'l)	437	뉴	\$9.25	\$4,042.25	\$261.52	\$4,313.02	\$1,176.50
Install 7" Gutters & Downspouts	140	뉴	\$9.25	\$1,295.00		\$1,304.25	\$283.14
TOTAL						\$5,617.27	\$1,459.65
Debris Removal	4	EA	\$655.00	\$2,620.00		\$3,275.00	\$1,342.75
Equipment							
Scaffolding		ΕA	\$3,215.00	\$3,215.00	\$225.05	\$3,440.05	\$947.46
Variable Reach Forklift	N	≨ ×	\$1,224.10	\$2,448.20	\$261.52	\$3,933.82	\$2,311.72
SUB-TOTAL							

THIS INSTRUMENT PREPARED BY: Name: Killarney Contractors Inc Address: Orlando FL 1212 S Main St., Wildwood FL 34785

NOTICE OF COMMENCEMENT

	rmit Number:
Pa	rcel ID Number: PARCEL ID: G18-029
Th foll	e undersigned hereby gives notice that improvement will be made to certain real property, and in accordance with Chapter 713, Florida Statutes, the owing information is provided in this Notice of Commencement.
1.	DESCRIPTION OF PROPERTY: (Legal description of the property and street address if available) BEG AT THE NW COR OF SW1/4 OF NE1/4 RUN S 89 DEG 27 MIN 00 SEC E ALONG N LINE 90.89 FT TO E R/W
	LINE OF HWY 301 RUN S ODEG 33 MIN 30 SEC W ALONG E R/W LINE 175 FT FOR POB RUN S 0 DEG 33 MIN
	30 SEC W ALONG E R/W LINE 175 FT S 89 DEG 26 MIN30 SEC E 800 FT N 0 DEG 33 MIN 30 SEC E 350 FT TO
2.	GENERAL DESCRIPTION OF IMPROVEMENT:
	Re-roof
3.	OWNER INFORMATION OR LESSEE INFORMATION IF THE LESSEE CONTRACTED FOR THE IMPROVEMENT:
	Name and address: EFUEL EFN CORPORATION, 1212 S MAIN ST, WILDWOOD, FL 34785
	Interest in property: Owner
	Fee Simple Title Holder (if other than owner listed above) Name:
	Address:
4.	CONTRACTOR: Name: Killarney Contractors Inc., Phone Number:
	Address: 355 Mashie Lane Orlando FL 32804
5.	SURETY (If applicable, a copy of the payment bond is attached): Name:_N/A
	Address: Amount of Bond:
6.	LENDER: Name: N/A Phone Number:
	Address:
7.	Persons within the State of Florida Designated by Owner upon whom notice or other documents may be served as provided by Section 713.13(1)(a)7., Florida Statutes.
	Name:Phone Number:
	Address:
8.	In addition, Owner designates of
	to receive a copy of the Lienor's Notice as provided in Section 713.13(1)(b), Florida Statutes. Phone number:
9.	Expiration Date of Notice of Commencement (The expiration is 1 year from date of recording unless a different date is specified)
8 17	
JOI CO	RNING TO OWNER: ANY PAYMENTS MADE BY THE OWNER AFTER THE EXPIRATION OF THE NOTICE OF COMMENCEMENT ARE NSIDERED IMPROPER PAYMENTS UNDER CHAPTER 713, PART I, SECTION 713.13, FLORIDA STATUTES, AND CAN RESULT IN YOUR YING TWICE FOR IMPROVEMENTS TO YOUR PROPERTY. A NOTICE OF COMMENCEMENT MUST BE RECORDED AND POSTED ON THE 3 SITE BEFORE THE FIRST INSPECTION. IF YOU INTEND TO OBTAIN FINANCING, CONSULT WITH YOUR LENDER OR AN ATTORNEY FORE COMMENCING WORK OR RECORDING YOUR NOTICE OF COMMENCEMENT.
	Signature of Owner's or Lessee's Successful of Owner's or Lessee's (Print Name and Provide Signatory's Title/Office)
	Authorized Officer/Director/Partner/Manager)
Sta	te of Florid County of Levhe
The	foregoing instrument was acknowledged before me this23day ofday of
by.	Librarch Stefanovic . Who is personally known to me OR
	Name of person making statement
MII	o has produced identification of identification produced:
and the last	
	d a 4. JULIE A. FLYNN
NO.	Notary Public. State of Florida Notary Signature
	Commission# GG 104027 My comm, expires May 14, 2021



Sumter County Building Inspection Plaque

THIS PLAQUE MUST BE READILY VISIBLE FROM THE STREET OR ROAD FRONTING THE PROPERTY!

result in a per conditioned u	nalty. The Pla upon full con	nust be displayed laque must be ke mpliance with the all Sumter County	ept neat and in e provisions of	a dry place	or covered with	plastic. Al	II per	rmits issued a	re		
OWNER					1,000	PE	ERMIT	ISSUE DATE		2	200
EFUEL, E	FN CORI	P & STEFAN	OVIC LJ		354	10	0/23	3/2017	SG		
PROJECT LOCAT		400 2000400	The state services			PF	ROJEC	CT DESCRIPTION			
		Vildwood, FL	34785			R	le-ro	oof w/shing	les (FL	5444.1) w/	
CONTRACTOR(S KILLARNEY	85)	ORS INC. (CCC)						9			
ZONING	SETBACKS:	FRONT	SIDES	REAR			1	PERMIT TYPE/SU	BTYPE		
Municipal	3]	ROOF_COM	M_ONI	LINE/RE-R	0
	for the work b	cal, Mechanical, & being done. Failur									
	<u></u>	OR Schedule	online Befo	ore 12:00 a	sts Call (352) 3 am (midnight) nen requesting fore receiving	of the p	rece tions	s.			
Ele		er will be Appr							iel ONLY	1	-

WARNING TO OWNER: YOUR FAILURE TO RECORD A NOTICE OF COMMENCEMENT MAY RESULT IN YOUR PAYING TWICE FOR IMPROVEMENTS TO YOUR PROPERTY. A NOTICE OF COMMENCEMENT MUST BE RECORDED AND POSTED ON THE JOBSITE BEFORE THE FIRST INSPECTION. IF YOU INTEND TO OBTAIN FINANCING, CONSULT WITH YOUR LENDER OR AN ATTORNEY BEFORE RECORDING YOUR NOTICE OF COMMENCEMENT.

Liquid Capital of Northern California 1200 West 8th Street



Davis, CA 95616 Tel: 530.750.2585

Fax: 866.636.2124

25th September 2017

Mrs. Ljubica Stefanovic, CEO **EFUEL EFN CORPORATION** 1212 South Main Street Wildwood, FL 34748

Dear Ljubica,

This letter confirms that as of June 1, 2015; Liquid Capital has an approved line of credit in place to the benefit of EFUEL EFN Corporation in the amount of \$1,500,000. As you know, this line has the ability to grow to \$2,000,000 as EFUEL EFN Corporation grows without additional approvals on our part. Liquid Capital has many leveraged accounts with many lines of credit and if need be, we could even go higher than this stated amount for the growth that you are seeking.

EFUEL EFN Corporation has been and continues to be in good standing with Liquid Capital. We are pleased with the sound management and operations of the company and look forward to our continued partnership as you continue to grow the company.

Please feel free to call me or to have your suppliers call me if there are questions.

Best Regards,

Dr. Amul Purohit, President & CEO Global Capital of Northern California, Inc. dba Liquid Capital of Northern California

Del Kahil

Page 1 of 1